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Question 1
Question Type: MultipleChoice

What service does the MLAG feature provide?

Options: 
A- Layer 3 OSPF redundancy

B- Telco redundancy

C- Layer 2 redundancy and increased Layer 2 bandwidth

D- Access List group therapy

Answer: 
C

Question 2
Question Type: MultipleChoice



Which of the following programming environments is included in every version of EOS out of the box?

Options: 
A- Perl

B- Python

C- PHP

D- Ruby

Answer: 
B

Question 3
Question Type: MultipleChoice

The Arista MLAG domain ID is:



Options: 
A- a text string configured in each peer switch

B- a serial number tied to the chassis of the master switch

C- the secret password into the local speakeasy

D- a pseudorandom number generated by the on board atomic clock

Answer: 
A

Question 4
Question Type: MultipleChoice

What does %1 signify when writing an alias statement in CLI?

Options: 
A- It means that Arista is number one.



B- %1 is a placeholder that will be replaced with token 1 when the alias is called.

C- It doesn't mean anything.

D- %1 means that the CPU is limited to 1% when the alias is called.

Answer: 
B

Question 5
Question Type: MultipleChoice

Which of the following commands is being deprecated and will not be supported in the near future?

Options: 
A- copy running-config startup-config

B- copy run start

C- write memory

D- none of the above



Answer: 
C

Question 6
Question Type: MultipleChoice

Why is FastCli faster than Cli?

Options: 
A- FastCli utilizes an always-running agent to process the submitted command and return the output.

B- FastCli is not faster than Cli, though the name might suggest otherwise.

C- FastCli is written in C++ while Cli is written in Perl.

D- FastCli uses special engrams from the M5.

Answer: 
A



Question 7
Question Type: MultipleChoice

Which of the following are valid interface named in EOS? (Select three)

Options: 
A- Ethernet 1

B- FastEthernet 38

C- vxlan 1

D- Vlan 101

Answer: 
A, C, D

Question 8
Question Type: MultipleChoice



What is the abbreviation for the term used to describe a device capable of encapsulating and decapsulating VXLAN packets?

Options: 
A- VTEP

B- VNI

C- VXLAN

D- VTP

Answer: 
A
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